
 

 

Answer on Question #56548-Physics-Mechanics-Relativity 

 

22.  

Solution 

The ratio of moments of inertia about diameter is 

𝐼𝑠𝑠𝑝ℎ

𝐼ℎ𝑠𝑝ℎ
=

2
5
𝑚𝑟2

2
3
𝑚𝑟2

=
3

5
. 

Answer: (D) 3:5. 

23. 

Solution 

For cube: 

𝐼 =
1

6
𝑚𝑎2 

For ring: 

𝐼 = 𝑚𝑟2 = 𝑚(
𝑑

2
)
2

= 𝑚(
𝑎

2
)
2

=
1

4
𝑚𝑎2 

For disc: 

𝐼 =
1

2
𝑚𝑟2 =

1

2
𝑚 (

𝑑

2
)
2

=
1

2
𝑚 (

𝑎

2
)
2

=
1

8
𝑚𝑎2 

For sphere (hollow): 

𝐼 =
2

3
𝑚𝑟2 =

2

3
𝑚 (

𝑑

2
)
2

=
2

3
𝑚 (

𝑎

2
)
2

=
1

6
𝑚𝑎2 

The largest is 
1

4
𝑚𝑎2. 

Answer: (A) Ring. 

https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

